
1) Convert the following improper 
fraction 155/7 + 61/2 into a mixed 
number

Answer: ____________

2) Convert the following improper 
fraction 222/12 + 218/11 into a mixed 
number

Answer: ____________

3) 1309 ÷ 77

Answer: ____________

4) Convert the following improper 
fraction 328/17 + 218/9 into a mixed 
number

Answer: ____________

5) 1530 ÷ 34

Answer: ____________

6) Find the percentage change from 350 
to 231

Answer: ____________

7)
36  Find Volume of Cone 

31

Answer: ____________

8) Convert the following improper 
fraction 74/9 + 314/15 into a mixed 
number

Answer: ____________

9) Find the percentage change from 225 
to 396

Answer: ____________

10) Find the percentage change from 100 
to 260

Answer: ____________

11) Convert the following improper 
fraction 125/13 + 263/18 into a mixed 
number

Answer: ____________

12) 3518/19 ÷ 211/2

Answer: ____________

13) 373/11 ÷ 249/10

Answer: ____________

14) Convert the following fraction into a 
mixed number: 14/5

Answer: ____________

15) Round 5.7 to the nearest 1000

Answer: ____________
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16)
36  Find Volume of Cone 

35

Answer: ____________

17) 1440 ÷ 80

Answer: ____________

18) Convert the following mixed number 
2914/20 into an improper fraction.

Answer: ____________

19) Convert the following improper 
fraction 282/20 + 1116/20 into a 
mixed number

Answer: ____________

20) Convert the following mixed number 
119/2 into an improper fraction.

Answer: ____________

21) Convert the following improper 
fraction 231/8 + 117/8 into a mixed 
number

Answer: ____________

22) Convert the following improper 
fraction 231/8 + 117/8 into a mixed 
number

Answer: ____________

23) 1014 ÷ 39

Answer: ____________

24)
40

Volume of Cone 
34

Answer: ____________

25) Round 27.55538 to the nearest 100

Answer: ____________

26) Round 27.55538 to the nearest 100

Answer: ____________

27) Find the percentage change from 496 
to 372

Answer: ____________

28) 3481.5 + 5388.6

Answer: ____________

29) Convert the following mixed number 
3518/19 into an improper fraction.

Answer: ____________

30) 3034 ÷ 37

Answer: ____________
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Total: ___ / 30
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Answers:

1) 223/14 2) 4359/66 3) 17 4) 5455/153 5) 45 6) -34% 7) 9057.2116202994

8) 1117/45 9) 76% 10) 160% 11) 3843/78 12) 1549/817 13) 11361/2739 14) 24/5

15) 5.7 16) 11545.353001942 17) 18 18) 297/10 19) 399/10 20) 21/2 21) 35

22) 35 23) 26 24) 48422.414767331 25) 27.56 26) 27.56 27) -25% 28) 8870.1

29) 683/19 30) 82
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